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using Microsoft.VisualStudio.TestTools.UnitTesting;
using System;

using TestCommon;

using E1;

namespace El1.Tests

{

[DeploymentItem("TestData", "E1_TestData")]
[TestClass ()]
public class GradedTests

{

[TestMethod (), Timeout(10000)]
public void SolveTest_Q1BetweennessTest ()

{
RunTest (new Q1Betweenness("TD1"));
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[TestMethod (), Timeout(5000)]
[DeploymentItem("TestData", "E1_TestData")]
public void SolveTest_Q2RoadReconstruction()

{
RunTest (new Q2RoadReconstruction("TD2"));

}

public static void RunTest(Processor p)

{

TestTools.RunLocalTest("E1", p.Process, p.TestDataName, p.Verifier,
VerifyResultWithoutOrder: p.VerifyResultWithoutOrder,
excludedTestCases: p.ExcludedTestCases);

}
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Name Weight Central-
ity
Alice 4
Charles 2
Bridget 0
Michael 0
Doug 0
Mark 0

Table 1: Betweenness Centrality in Graph
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using System;
using System.Collections.Generic;
using TestCommon;

namespace E1

{
public class QlBetweenness : Processor
{
public QlBetweenness(string testDataName) : base(testDataName)
{
//this.ExcludeTestCaseRangeInclusive (2, 50);
}
public override string Process(string inStr) =>
TestTools.Process(inStr, (Func<long, long[][], long[]>)Solve);
public long[] Solve(long NodeCount, long[][] edges)
{
return new long[] { };
}
3
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Cut property

Let X C E be a part of a MST of G(V,E), SC V
be such that no edge of X crosses between S and
V — S, and e € E be a lightest edge across this
partition. Then X + {e} is a part of some MST.

Cut Property :Y &

using System;
using System.Ling;
using TestCommon;

namespace E1l

{

public class Q2RoadReconstruction : Processor

{
public Q2RoadReconstruction(string testDataName) : base(testDataName)

{
}

public override Action<string, string> Verifier => RoadReconstructionVerifier.Verify;

public override string Process(string inStr) {
long count;



long[][] data;
TestTools.ParseGraph(inStr, out count, out data);
return string.Join("\n", Solve(count, data).Select(edge => string.Join(" ", edge)));

}

// returns n different edges in the form of {u, v, wetght}
public long[][] Solve(long n, long[][] distance)
{

return null;

}
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